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Which of the following number is 425

6,352.021

A. Four million two hundred and fifty six
thousand three hundred and fifty two
and twenty one hundredths.

B. Four million two hundred and fifty six
thousand three hundred and fifty two
thousand.

C. Fourmillion two hundred and fifty six
thousand three hundred and fifty two
and twenty one thousandth.

D. Four million two hundred and fifty six
thousand three hundred and fifty two
and two hundred tenth.

What is the value of 2 in the number

563.1427
A. Thousandth B. T%(T
. 002 D. Two thousandth

How many days were there between 21
December 2011 and 3™ march 2012.

A. 73 B. 71

Co TR D. 74

Round off the following number to the
nearest hundredth.

367.9965
A. 368 B. 368.0
C. 368.00 D. 368.000

What is the value of
2(62-42) —8x%6 + 2

Ad0 “*%. B u
C. 16 D. 2

Chepngeno bought the following items
from the shop.

3kg rice @ shs.82

2 bars of soup @ shs. 115

250g of washing powder for 65

Vs litre of cooking oil (@ shs.60 per Y litres
4kg of maize meal (@ shs.95 per 2kg
packet.

If she paid using 2-500 shillings notes, how

much balance did she get?
A. 149 B. 851
C. 89 D. 179

9

7. Inthe figure below line PQ is parallel to
line ST. Line UV is a transversal

Which of the following statements is not
TRUE

A. a+g=180°

B. d=g

(e. Ate=g*h

D. d+h=f+c

8. What is the sum of the square of

-;— and the square root of 6%?
A 6 . 2L
_ 12 18
c = b 55
36 4

Q. Whatis the seventh number in the

sequence?
2.4.7.12. 19
A. 30

B. 41

g 1)

D. 43

10. Which one of the following is the simplest
form of
3(a+2b)+a+b
5(2b+a)—-5b—-4a

3a+5b 4a +7b
15b —-9a 5b+a
3a+b D 4a + 3b
10b +9a " S5b-a



11. Belowisatrain time table from town A to
F.

TOWN |ARRIVAL | DEPARTURE
TIME

8:20am 8:35am
10:45am 11:05am
12:40pm 12:55pm
:10pm 2:25pm
3:15pm 3:30pm

How long did the train take to travel from

town B to town E?

A. 5Shrs 50min
B. Shrs 35min
C. 6hrs 05min
D. 4hrs S50min

12. The rectangle below is drawn to scdl/c of
Iecm: 50 000cm.

What is the actual area in hectares?
A. 60000 hectares B. 600 hectares

C. 60 hectares . 6 hectares

13. The diagram below shows an isosceles
triangle.

14cm

Calculate the area of the triangle.
A. 350cm? B. 175cm?
C. 336cm? D. 168cm?

14. The diagram below is part of a Rhombus
ABKEDR D

Complete the Rhombus and drop a
perpendicular from point D to meet A B
at X. What is the measure of the line

XB3?
A. 4cm B. Scm
C. 4.5¢cm D. 6.7cm

15. Onyango paid 12,375 fora TV after
getting a 25% discount. What was the

marked price of the TV set?
A. Shs.4125 B. Shs.9281.25

C. Shs.16,500 D. Shs.4,200

16. Three busesleave the bus station at an
interval of 24min, 36min and 48min. If
they all left the bus station at 8:10am,
when will they leave station together

again?
A. 10:34am B. 11:34am
C. 9:34am D. 10:34pm

17. A rectangular water tank measures 2.4m
long, 1.2m wide and 0.9m high. Ifit
contains water to a height of 0.75m, how
many more litres of water are required to
fillthetank?

A. 2160 litres B. 2592 litres
C. 1620 hitres D. 432 liwes

18. The fractions % % % % are to be arranged

from the largest to the smallest. Which of
the following is the correct order?

A. 7?I15‘§_ B. I‘E_‘iil
0272 9782
o 1513 D, 3713
9'7°2°8 1°9'2"8



19. The following are characteristics of

quadnlaterals

i Diagonals bisect at right angle.

ii. Diagonuls are equal

iii. All angles are equal

iv. Opposite sides are equal and
parallel

v. Allsides are equal

Which combination is true for both

square, and a rhombus?

A. (1) (iv) (v) B. (1) (iv) (u)

C. () (@) (iv) D. (i) (1v) (v)

20. The number of incoming flights recorded

at Jomo Kenyatta International airport m
certain months of the year are recorded
below.

Month June | July
No. of flights| 83 10

Which two consecutive months recorded
the highest mean of incoming flights?

A. August and October

B. Julyand August

C. June and September

D. September and October

21. Construct triangle PQR in which

PQ=6.7cm QR= 5.8 and PR=7.lcm.
Bisect anglc QRP and let the bisector
meet line PQ at M.

What is the size of angle PRM?
A. 40° B. 90°
C. 23" D.. 67°

22.

.

27.

Wit 1 tifle wallne off x m

Hx—3) 26+x)_,
2 4

A. 4L B. 3

C. 3

A packeit i im fomm off @ rryramd with
rectampuibar hese. Winich of the followin e
statkememis 1% true abowit tine muxmier of
edipes andl wenhoes?”

A. 8codees, 3 wentiioes

B 3 cdipes, 8 wenttoes

C. 9odpes, 6 wertihoes

D. 6 cdipes, 9 werthoes

A comypeamny cmyplloyad 12 poople to
oomyplete 2 puooe of wwonk m 4 days.
Alffixer wortkimg e st diay 3 poople did
mott wworlk apmm. Hiowy mamy days dad the
wvonlk take to e comypllete?

A, 4 diays B. ® days

C. 3 days D. 3 days

st wiilll fomm & mglint ampled
A. 07cm, 24cm, 23cm

B. 0.05cm, 0.12cm, 1.3cm

C. 0.8am, [3am, [1.7cm

D. 3cm, O4cm, 3am

A lomry wwas llomdiad wiith 50 bags off
msiize, 33 hags of heams and 24 bags of
Ndiempm. [ifa bagy of marze wiengihod
ks wiinilke thatt off theans wenphod 75kg,
a e off Ndiempm wenghod 60ky. How
e ws tiine tiottall s off tiine lomry 2md
titine o] uff 2 comptty komry s 2 mass of
273 tommes?

A. 8365 tommes B 7.125 tommes
C. 11.313 tommes D. 4.5 tommes

D. 24

Coaattlimoomoen hompiit 2 oo off Temd for 2
imiko ttwwamity fiwe aquesl plots. He sold
cacth plot a2t siis. 100000, Wit was the

peroemtaee pedf?
A. 20% B. 40%
C. 30% D. 25%




28. The table below shows the number of 31.
cratcs ol soda sold by a distributor in
one week.

Mon] Tue | Wed | The | Fa
5 [ % 65 |75 | 34

~ Which bar graph correctly show this
information?
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29. Jamal deposited 50,000 in a bank that
eam 5% simple interest per annum. How
much interest was 1n his account after
1 %2 years?
A. 53 750shs. BB. 3,750shs.
C. 7,500shs. D. 57,500shs. R
34.

30. During the firstlady halfmarathon on

zero campaign 250 men took part. The
number of women was three times that of
men and 1250 less than that of boys.

The number of girls was 200 more than
that of boys. How many people in total
participated in the function?

A. 2400 B. 5200

C. 1700 D. 4200

The cash price of a Generator 1s 24,000.

The hire purchase price is 25% more
than cash price. Nanok bought it on hire
purchase paying 25% of the hire
purchase as the deposit and the rest in

12 equal instalments. How much was
cach instalment?

A. shs.2,000
B. shs.22.500
C. shs.1 875
D. shs.7,500
The figure below shows a trapezium
PQRS. Line PQ is parallel to RS. Line
PQ- 13cm, line RS=7cm and line
QR=10cm.
cm
- o
10cm
13cm  ~
What is the area of the figure?
A. 80cm? B. 100cm’
C. 200cm? D. 160cm?
What is the valueof
32+0.8+2(026+3.74)
36=-09

A. 0.003
B. 0.03
C. 03
D. 3

A sales lady eams a monthly salary of

shs.12500. She is also paid 2.5% on all
the sales above 200,000. In one month
she sold 25 cartons of books each worth
30,000. How much money did she earn
as commission that month?

A. 26 250

B. 18 750

C: 13750 -
D. 31250



39,

36.

37,

Four boys Kantet, Mkoko, Owuor and

Anyona contributed some money to buy
a ball. Anyona contributed x while

Mketo contributed 1 of what Anyona

contributed. Owuor contributed sh.200
less than the total for both Anyona and
Mkoto. Kantet contributed 100 more
than Anyona. If the total amount raised
was 2,700, which of the following
equation can be used to find the amount
raised by each boy?

A. 3x + %—x + 300 = 2700

B. 3x + %x - 100 = 2700

C. 2x + %x ~ 300 = 2700

D. 2x + jo ~ 100 = 2700

At the beginning of the year 2013, the

total number of leopards and Buffalo at
Ruma National park was 18,000. 15%
of these animals were leopard. At the
end of the year the leopard increased by
20% while the antelope reduced by 20%
What was the total number of animals at
the park by the end of the year?

A. 14 400 B. 12 240

C. 3240 D. 15480

The diagram bclo;::_shcwg Wakaba’s
plot of land C

' ?Om o523 LIEE 288
= 5
2 T

70m—+

200m

Calculate the length of the wire needed
to fence the land using three strands of
WIre.

A. 3720m B.
C. 880m

_ 1240m
D. 800m

38.

39,

40.

41.

The table below shows the number of

cars that passed near Waka school in a

certain week. Number for Thursday is
not shown.

Dy [Mon] Tue] Wed] Thur] Tri] Sat
No.of|29 | 33 47137
cars

If }R*mcan number of cars was 36, what
1s the sum of mode and median?

A. 29

B. 64

Ko 9
D. 35

In a certain factory % of the employces

are women. On a day when 730 of the

women were absent, 306 women were

present. How many men arc there in the
factory?

A. 600
B. 360
C. 54
D. 240

The perimeter of a rectangle is 36cm.

The width is 4cm less than the length.
Calculate twice its area.

A. 77cm?

B. 55cm?

C. 154cm?

D. 110cm?

A motorist drove for 40min at a speed of

90km/hr from home to town. He took
24min to drive back home. Calculate the -
average speed for the whole journey.
A. 150km/h

B. 225km/hr

C. 112%km/hr

D. 120km/hr



42.

43.

44.

43.

Ole Munyere shared a number of cows

to his four children. Theirshares were
Timothy 0.3, Gloria0.11, Sein 0.19
Naiserian 0.17. If the children got a total
of 462 cows, how many cows did he
remain with?

A. 138

B. 0.23

C. 600

D. 0.77

In a meeting there were 840 attendants.

The ratio of men to women was 3:4.
Later 60 men left while 60 women
joined. What was the new ratio of men

to women?
A. 1:1 B. 4:3
o B9 D. 59

The diagram below shows which type of
a triangle? -

6cm

4cm

A. Right angléd triangle
B. Scalene
C. Isosceles trianglc

D. Equilateral trianglc

The diagram below shows a wooden
solid. |

AOS™
30cm

Calculate the surfacc arca taking

x=3.14
A. 2590.5¢cm? B. 1906.5¢cm?
C. 706.5cm? D. 3790.5¢cm?

46.

47.

48.

49.

Duale’s watch loses 15sec every hour.

The watch was set right on Monday
8:30am. What time did it show on
Friday the same week when the correct
time was 8:30a.m?

A. 8:54am

B. 8:54pm

C. 8:06am

D. 8:06pm

A triangular plot ofland measures 75m

by 125m by 150m is to be fenced. The

posts are to be 2.5m apart. How many
posts are required?

A. 141

B. 13

C. 14

D. 140

Sathya Sair School received 120 cartons

of milk. Each carton contain 21 - 2dl
packets of milk. How many litres of milk
were received by the school?

A. 504 liwes

B. 5040 litres

C. 252 litres

D. 2520 litres

Which of the following shapes will be the
next in the pattern?




50. The graph below shows a part of Nyaga’s Journey from Tharaka Nithi to Nyahururu a distance
of 280km. After driving for 1% hrs his vehicles broke down and took one hour to repair
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